> |
No - l\o;\opmoov <o oAou) MPWPO'“"

I:-feq"wu"’-xclx tu Iy fé’ owtxdx
My

. IwIz:Se'uthx dx +j € Foulx dx =

= Je‘u/ﬂdh"x +m;a2><)<1>< -ff?'x dx =i g_;" ®

sl j e rwk dx j eXMhtx dx =

lffe X (ow - upy ) dx ge muZfo

(Mh'lx /Jx-—é ’WMx— fe (2" Mhox dx =
= 5 Fmfrx +f “Mhex dx -

l
3 € mhx _._'Je-zx.
[

-

(orwex) dx =

-2
3 € “mhex - 5 € owex +25 €™ (2x) owaxdx =

Tickn
:9‘\64 MMex - ic -ruvﬁx—[fC-ZXO'WZdel—D -

—— T -y = ’ =
=) L Lo = 5 € MhZK ~e ’3‘wz>< I,.,L-L
9 Tieo Lo vl yonx

2 € Mfex - ze Xorwix =
=) T

7 82 S e X athe e puov

3 . @




—~2%
. et -2 =2H¢
e ke Ti-Lo=€ mizx—€ owax
] 4
TiporBttodhe ko Wy - :
§h,. e o i€ ole
| 2 4

e o
= : -9 € & T e .
> 11_:: e whax e WX L
8
-2X |
(e
Aes,
T_"v = _fil—ix_ e (—24mhex —aow2x)
2 =
3
—2Lx —2X . ;
= T — 29 A NMLX — oW2X)
= IQ = T S C L) i gt
\ ' 8 |
= Yoo €‘1K(—4+9~+V\\>‘Qv<——c—w2x\ € (2 bz x-ow 2X)
S = 8

‘\AQC\\ Te=1s



